1.

(3x+2a)? = 9x? + bx + 16 & ), ab ] 27 (

® 16 @ 22 ® 36 @ 42

1 P
,a, b= 4F)

()48

B

(3x + 2a)? = 9x% + 12ax + (2a)? O|E2
9x% 4 12ax + 4a®> = 9x% + bx + 16
12a=0b, a®> =4

ooab =124 =48




2.

= SollA AAsHAE mel A4 O] (—x +y)% I B2 A2

@) (x-y)? @ (x+y)? ® —(x—y)?

@ —(x+y)? ® (-x-y)?

~&B

(—x+y)? = x> - 2xy +y*

@ (x-y)* =x*-2xy +y?
@ (x+y)?=x"+2xy+)°
@ —(x-y)?=-x*+2xy-»°
@ —(x+y)? = -2 -2xy-y*

® (-x-y)2=x24+2xy+y* (-x+y)? ={-(x-y)P =

(x-y)?




3. (x+3)(x-2)+ (x—3)(x+5) & Zto] 5}H?

D x2+3x-21 @ x2+6x-15 ® 2x2+3x-15

(@)2x2+3x—21 ® 2x24+6x-6

(x+3)(x—2)+ (x-3)(x+5)
=x24+x-6+x2+2x-15
=2x%+3x-21




QA A5} e SR

@ (%x—i—S) <;x—15) @ (2x-1)(3x+3)
® (x+1)(x+2) @ (x-3)(x+6)
@) @c-3)(x+1)

(%x—f-iﬁ) (Zx— 15) = zx2 +3x-45

2 4
2x—1)(3x+3) =6x> +3x-3
Wx+2) =x24+3x+2




B 220+ 1)~ (x4 4)(x—4)F S| ShH?

D 15x% +16x + 20 @ 15x® +16x-12

® Tx®2+8x-14 @7)62—1-8)6—1—18

® Tx% +4x+17

2(4x° +4x + 1) = (¥* - 16)
= (8x* +8x +2 - x> + 16)
= 7x* +8x+ 18




® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*

ol-&

@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab




T. A A, B Col WSt (2x-A)2 =4x®> + Bx+ CO|IL B=-24-6
A, A+B+C 9 g2

1
o+  @-; @ @ 2 ® 4

B *
(2x—A)?2 =4x? —4Ax + A? = 4x* + Bx + C

—4A =B o|BE&

—4A =-2A-6

LA=3

B=-2x3-6=-12

C=A%2=9

LA+B+HC=3-124+9=0




8.

1 1
(—2x 4 5y)(2x + 5y) — (§x+ 2y) <§x -2y

4 4
@ —§x2 + 29y? ©) —§x2 + 16y?

37 , 2 37 5 2
) —?x + 25y @—Ex —+ 29y

B
~(292 + (5 - {(%) - (w}
= —4x? + 25y — $x2 + 4y?

= —%ﬁ + 292




ol
™
ol
o8

—_—

X

dg
No
™

o
=3

&/
el
I
ol

X2 -0x+14
x2—x-12

2 4+7x-8
2 4+x-12

@ (x-2)(x-1)

@) (x+3)(x-1)

‘ ® (x+3)(x—4)

@ (x+8)(x—-1)



10. the 193 o] ARG HE0) A2k o] Holk?

/|26
/
i
|
5a
\
\
\ 3b
Tte-T7q---"
@ 2542 + 9b? @ 2542 — 10ab + 4b?
® 3542 — 3ab + 16b2 @ 3542 - 21ab + 6b>

©)354? - 29ab + 60

A xj7k 9] o))

— (h=) x (A=)
= (7a — 3b)(5a — 2b)
= 35a% — 29ab + 6b*




11. o3 283} Zo] 7k29] Zol7} 2xem , Al22] Zol7} 3yem 1 A4
ZFd ABCD 2Fe] Fol& 3ol ZAE ABFE ¢ HAH2F9g EGHD

= dddsle o, g2 Folo HWolE x, y o A o= vt=A vEhd
A&7
_-2remes= -
/
!
Syem G—H

\

B F C
® 4x2 + 18xy + 18y? @ 4x% - 18xy + 18y?
® 4x® - 18xy — 18y? @ —4x — 18xy + 18y?

@—4x2 + 18xy — 18y?

—€B \
ED 9| Zo]x 2x - 3y o|th. nEGHD 7} Az o2 2 BEG
9] ol 2x - 3y o|t}. WA GF 2] Aol 3y — (2x - 3y) =
—2x + 6y ©|t}.

I BE AAF FE| "ol (2x - 3y)(-2x + 6y) = —4x* +
18xy — 18y? o] Hr},




12. o= 2ol ARt 729 dol=?

--=Q-~__ .b.

- ~

--—-Q -

@ (a+b)? =a® + 2ab + b*
@ (a-b)?=a®-2ab+b*
@) (a+b)a-b)=a®-p?
@ (x+a)(x+b)=x*+(a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + be)x + bd




13, (a+b+o)* & Aok

® a*+b*+c?

@ @ +b* +¢* +ab + bc +ca
® a®+b*+c+atbte
@ a?+b*+c2+2a+2b+2c

(@)GQ + b? + ¢? + 2ab + 2bc + 2ca

~&B

a+b=rt2} A
(a+b+c)?=(t+c)?
=12 + 2ct + 2

= (a+b)? +2c(a+b) + c?

= a2 + 2ab + b% + 2ca + 2bc + ¢?
= a® + b* + ¢ + 2ab + 2bc + 2ca




14. (Bx-2y+1)2& AN AANAM xy ] AFE A,y AFE BT
o, A - B9 3t&?

® 8 @ 4 ® 0 @ -1 G)-s

B ~
3x—2y=Az}5tH

(Bx—2y+1)2=(A+1)?
=A2+2A+1=(3x-2y)2+2(3x-2y) + 1

=9x2 —12xy+4y? +6x -4y +1

LA=-12,B=-4

LA-B=-8




2 sk 5] $isted] olg
7

@® 2012 - (a-b)?

@ 499> — (a+b)?

® 9972 — (a+b)(a-b)

@ 103x97 — (ax+b)(cx+d)

@104 x105 — (x+a)(x+D)

~&B

@ 201% = (200 + 1)® = (a + b)?

@ 4992 = (500 — 1)? = (a - b)?

® 9972 = (1000 - 3)? = (a — b)?

@ 103 x 97 = (100 + 3)(100 - 3) = (a + b)(a - b)




7
© 3 @7 ® @ 14

[NCRIEN|

. b
Fa bel thstelarb =3, a2 +b2 =7, T 42 o g

® 16

a’+b%* = (a+b)? - 2ab
9—2ab=7
sab=1

~a b a+b* 7
R a7




17. (3a—2b+1)(3a+2b-1) & A75HA?

@ 3a2-2b%2-1 @ 9a% —4b% -1
® 942 +2p-2b2-1 @ 9a%2 +2b-4b? -1
©9a2—4b2+4b—1

~&B

(3a—2b+1)(3a+2b-1)
={3a-(2b-1)} {3a+ (2b-1)}
= (3a)2 - (26— 1)2

=9a% - (4b*> —4b + 1)
=9a% - 4b* +4b -1




18. 2B+ 1) +1)B*+1)(3B+1) =3*+bLd W, A5 a, b Fa+b
o] g7

@55 @1 0-15 @-16 69

~&B

2=3-10]02
B-1B+1)B2+1)B*+1)(3% +1)
=(FZ-1)E+1)E*+1)(3%+1)

=B -1)B*+1)(3¥+1)
=(38-1)(3%+1)

:316_1

a=16, b=-1

L a+b=15




19. (x+A)(x+B) & A/sHAHY »* + Cx -3 o] H3th. t& 5 C 9
grol 2 4 A= 222D, A, B, € & 5ol

(x+A)(x+B)=x>+(A+B)x+AB = x>+ Cx -3 °|BE&2
A+B=C AB=-3°ltf. tfA C=(1-3, -1+3, 3-
1, —3+1)=(-2, 2) °|t}.




@D 3x24+12x+1 @ 3x2+12x+ 11
® 6x2+23x+ 20 @ 6x%+27x+20
((@&c2 +23x 421

X (%) + (YA o] 2=
(3x+4)+1=6x%+23x+21




21.

A4 a, b, ¢ ol ot (5x + a)(bx + 6) = 10x? + cx — 54 & W,
a+b+c 9 32 otofet.

>

> ®Me: 5

(5x + a)(bx + 6) = 5bx* + (30 + ab)x + 6a
5bx? + (30 + ab)x + 6a = 10x? + cx — 54

5b = 10 Lob=2
6a = —54 Soa=-9
304+ab=c, (30—18) =12 Soe=12

ca+b+c=-9+2+12=5




AA LY (b

= 2H =
L Hade] 95o) Zo))
@ab @ 2ab ® nab @ 2nab ® ra’b?
a
b=2r(r+ 5) = 27r + wra = x(2r + a)
o5 2ol Yol § 2 o
S =n(a+r)?-nr?
= n(a® + 2ar +r? - r?)

na(a + 2r)
a{n(a+2r)}
ab




23. (3x—2y+42)(2x+2y—42) & AMNSAS W, xy,yz, zx ZZFe] Al5=2]

e

@14 @ 16 @ 18 @ 20 ® 22

S5 ~
(3x — 2y 4 42)(2x + 2y — 4z)

= {3x = (2y — 4z){2x + (2y — 42)}

2y — 4z = A2 |25t

(3x—A)(2x + A)

= 6x% + Ax — A2

A =2y-4zE5 HYstHA

6x2 + (2y — 42)x — (2y — 4z)?

= 6x% + 2xy — 4xz — 4y% + 16yz — 162>

sxy,yz, ax O Ao 9t L 2416 + (—4) = 14




24. x=ala-6)d W, (a+1)(a-2)(a-4)(a-7)& x| FF Ao
e ?

@ x*-36 @ x2-6 ® x2+x
@ x24+x-36 @x2+x—56

B
x=a(a—6)=a*-6a
(a+1)(a-2)(a-4)(a-7)
={@a-2)a-D}{@a-7(a+1)}
= (a® - 6a+8)(a® - 6a—T)
= (x+8)(x-7)
:x2—|—x—56




25. (a+2)(b+2) =12, ab =24 W, a-b o IS F3toiet. (&,
a<b)

> E.

> ®E: -1

B ~

(a+2)(b+2)=ab+2(a+b)+4=12°]1 ab =2 °|EZ
a+b=3

“(a-b)?=(a+b)?-4ab=3*-8=1
a<bZ,a-b<0°B2 g-p=-10]|t}.




